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Using Discrete Choice Tables to Teach Consumer Choice in Introductory Economics Classrooms
Stephen Erfle, Dickinson College and Mark Holmgren, Eastern Washington University

Budget Constraints    
Define what is Affordable

• Make sure to separately introduce the notions of 
what the individual likes and what the individual 
can afford 

• Students are introduced to a table for a consumer 
that consume two goods, x and y. The consumer 
may only consume up to 20 units of good x and 
20 units of good y.

• Each cell lists the cost to the consumer of 
consuming the respective combination of good x 
and y, which we often call (x, y) bundles.

• The two tables below show two scenarios:  Both 
have an income $16 and price of y of $1. 

• Green cells are bundles consumer can afford and 
the darker green cells cost exactly $16.

• Panel 1.A has  price of x of $0.50. 

Utility of Various Bundles:
Indifference Curves in a 

Discrete Context
• Each cell shows the utility value of the bundle 

utility function (U(x, y) = x∙y, in T2 and T4-T6).
• Highlighted cells exhibit the same utility as other 

bundles of the same respective color.

T3.

20 44.7 63.2 77.5 89.4 100.0 109.5 118.3 126.5 134.2 141.4 148.3 154.9 161.2 167.3 173.2 178.9 184.4 189.7 194.9 200.0

19 43.6 61.6 75.5 87.2 97.5 106.8 115.3 123.3 130.8 137.8 144.6 151.0 157.2 163.1 168.8 174.4 179.7 184.9 190.0 194.9

18 42.4 60.0 73.5 84.9 94.9 103.9 112.2 120.0 127.3 134.2 140.7 147.0 153.0 158.7 164.3 169.7 174.9 180.0 184.9 189.7

17 41.2 58.3 71.4 82.5 92.2 101.0 109.1 116.6 123.7 130.4 136.7 142.8 148.7 154.3 159.7 164.9 170.0 174.9 179.7 184.4

16 40.0 56.6 69.3 80.0 89.4 98.0 105.8 113.1 120.0 126.5 132.7 138.6 144.2 149.7 154.9 160.0 164.9 169.7 174.4 178.9

15 38.7 54.8 67.1 77.5 86.6 94.9 102.5 109.5 116.2 122.5 128.5 134.2 139.6 144.9 150.0 154.9 159.7 164.3 168.8 173.2

14 37.4 52.9 64.8 74.8 83.7 91.7 99.0 105.8 112.2 118.3 124.1 129.6 134.9 140.0 144.9 149.7 154.3 158.7 163.1 167.3

13 36.1 51.0 62.4 72.1 80.6 88.3 95.4 102.0 108.2 114.0 119.6 124.9 130.0 134.9 139.6 144.2 148.7 153.0 157.2 161.2

12 34.6 49.0 60.0 69.3 77.5 84.9 91.7 98.0 103.9 109.5 114.9 120.0 124.9 129.6 134.2 138.6 142.8 147.0 151.0 154.9

11 33.2 46.9 57.4 66.3 74.2 81.2 87.7 93.8 99.5 104.9 110.0 114.9 119.6 124.1 128.5 132.7 136.7 140.7 144.6 148.3

10 31.6 44.7 54.8 63.2 70.7 77.5 83.7 89.4 94.9 100.0 104.9 109.5 114.0 118.3 122.5 126.5 130.4 134.2 137.8 141.4

9 30.0 42.4 52.0 60.0 67.1 73.5 79.4 84.9 90.0 94.9 99.5 103.9 108.2 112.2 116.2 120.0 123.7 127.3 130.8 134.2

8 28.3 40.0 49.0 56.6 63.2 69.3 74.8 80.0 84.9 89.4 93.8 98.0 102.0 105.8 109.5 113.1 116.6 120.0 123.3 126.5

7 26.5 37.4 45.8 52.9 59.2 64.8 70.0 74.8 79.4 83.7 87.7 91.7 95.4 99.0 102.5 105.8 109.1 112.2 115.3 118.3

6 24.5 34.6 42.4 49.0 54.8 60.0 64.8 69.3 73.5 77.5 81.2 84.9 88.3 91.7 94.9 98.0 101.0 103.9 106.8 109.5

5 22.4 31.6 38.7 44.7 50.0 54.8 59.2 63.2 67.1 70.7 74.2 77.5 80.6 83.7 86.6 89.4 92.2 94.9 97.5 100.0

4 20.0 28.3 34.6 40.0 44.7 49.0 52.9 56.6 60.0 63.2 66.3 69.3 72.1 74.8 77.5 80.0 82.5 84.9 87.2 89.4

3 17.3 24.5 30.0 34.6 38.7 42.4 45.8 49.0 52.0 54.8 57.4 60.0 62.4 64.8 67.1 69.3 71.4 73.5 75.5 77.5

2 14.1 20.0 24.5 28.3 31.6 34.6 37.4 40.0 42.4 44.7 46.9 49.0 51.0 52.9 54.8 56.6 58.3 60.0 61.6 63.2

1 10.0 14.1 17.3 20.0 22.4 24.5 26.5 28.3 30.0 31.6 33.2 34.6 36.1 37.4 38.7 40.0 41.2 42.4 43.6 44.7

0

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

C
o

n
su

m
p

tio
n

 o
f G

o
o

d
 Y

Consumption of Good X

The same bundles have V = 63.2, V = 77.5, and V = 89.4, given V = 10 ∙(x∙y)0.5

T2.

20 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380 400

19 19 38 57 76 95 114 133 152 171 190 209 228 247 266 285 304 323 342 361 380

18 18 36 54 72 90 108 126 144 162 180 198 216 234 252 270 288 306 324 342 360

17 17 34 51 68 85 102 119 136 153 170 187 204 221 238 255 272 289 306 323 340

16 16 32 48 64 80 96 112 128 144 160 176 192 208 224 240 256 272 288 304 320

15 15 30 45 60 75 90 105 120 135 150 165 180 195 210 225 240 255 270 285 300

14 14 28 42 56 70 84 98 112 126 140 154 168 182 196 210 224 238 252 266 280

13 13 26 39 52 65 78 91 104 117 130 143 156 169 182 195 208 221 234 247 260

12 12 24 36 48 60 72 84 96 108 120 132 144 156 168 180 192 204 216 228 240

11 11 22 33 44 55 66 77 88 99 110 121 132 143 154 165 176 187 198 209 220

10 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200

9 9 18 27 36 45 54 63 72 81 90 99 108 117 126 135 144 153 162 171 180

8 8 16 24 32 40 48 56 64 72 80 88 96 104 112 120 128 136 144 152 160

7 7 14 21 28 35 42 49 56 63 70 77 84 91 98 105 112 119 126 133 140

6 6 12 18 24 30 36 42 48 54 60 66 72 78 84 90 96 102 108 114 120

5 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100

4 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80

3 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 48 51 54 57 60

2 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40

1 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

0

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

C
o

n
su

m
p

tio
n

 o
f G

o
o

d
 Y

Consumption of Good X

Three Indifference Curves: Six bundles have U = 40, Eight have U = 60, and 

Six have U = 80, given U = x∙y. This U function is used in T4.-T6.

An Optimal Choice Rule The Effects of a Price Change

Decomposing The Total Effect

T5.
Panel A Given I = $12, Py = $1, compare optimal bundles when the price of x is $0.50 and $2

20 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380 400

19 19 38 57 76 95 114 133 152 171 190 209 228 247 266 285 304 323 342 361 380

18 18 36 54 72 90 108 126 144 162 180 198 216 234 252 270 288 306 324 342 360

17 17 34 51 68 85 102 119 136 153 170 187 204 221 238 255 272 289 306 323 340

16 16 32 48 64 80 96 112 128 144 160 176 192 208 224 240 256 272 288 304 320

15 15 30 45 60 75 90 105 120 135 150 165 180 195 210 225 240 255 270 285 300

14 14 28 42 56 70 84 98 112 126 140 154 168 182 196 210 224 238 252 266 280

13 13 26 39 52 65 78 91 104 117 130 143 156 169 182 195 208 221 234 247 260

12 12 24 36 48 60 72 84 96 108 120 132 144 156 168 180 192 204 216 228 240

11 11 22 33 44 55 66 77 88 99 110 121 132 143 154 165 176 187 198 209 220

10 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200

9 9 18 27 36 45 54 63 72 81 90 99 108 117 126 135 144 153 162 171 180

8 8 16 24 32 40 48 56 64 72 80 88 96 104 112 120 128 136 144 152 160

7 7 14 21 28 35 42 49 56 63 70 77 84 91 98 105 112 119 126 133 140

6 6 12 18 24 30 36 42 48 54 60 66 72 78 84 90 96 102 108 114 120

5 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100

4 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80

3 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 48 51 54 57 60

2 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40

1 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

0

y/x 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Note: Each optimal bundle has five other indifferent bundles in the table. Consumption of Good X
The Total Effect of the Px is to move from from (12, 6) to (3, 6) and vise versa for a Px.
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Alternative Views of the Effect of a Price Change on Consumer Choice

Panel B If Px increases from $0.50 to $2, then (6, 12) is the least cost way to obtain U = 72

20 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380 400

19 19 38 57 76 95 114 133 152 171 190 209 228 247 266 285 304 323 342 361 380

18 18 36 54 72 90 108 126 144 162 180 198 216 234 252 270 288 306 324 342 360

17 17 34 51 68 85 102 119 136 153 170 187 204 221 238 255 272 289 306 323 340

16 16 32 48 64 80 96 112 128 144 160 176 192 208 224 240 256 272 288 304 320

15 15 30 45 60 75 90 105 120 135 150 165 180 195 210 225 240 255 270 285 300

14 14 28 42 56 70 84 98 112 126 140 154 168 182 196 210 224 238 252 266 280

13 13 26 39 52 65 78 91 104 117 130 143 156 169 182 195 208 221 234 247 260

12 12 24 36 48 60 72 84 96 108 120 132 144 156 168 180 192 204 216 228 240

11 11 22 33 44 55 66 77 88 99 110 121 132 143 154 165 176 187 198 209 220

10 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200

9 9 18 27 36 45 54 63 72 81 90 99 108 117 126 135 144 153 162 171 180

8 8 16 24 32 40 48 56 64 72 80 88 96 104 112 120 128 136 144 152 160

7 7 14 21 28 35 42 49 56 63 70 77 84 91 98 105 112 119 126 133 140

6 6 12 18 24 30 36 42 48 54 60 66 72 78 84 90 96 102 108 114 120

5 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100

4 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80

3 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 48 51 54 57 60

2 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40

1 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

0

y/x 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
We call the move from (12, 6) to (6, 12) the Substitution Effect of the price increase. Consumption of Good X
The move from (6, 12) to (3, 6) is the Income Effect of the price increase.
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Panel C If Px decreases from $2 to $0.50, then (6, 3) is the least cost way to obtain U = 18

20 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380 400

19 19 38 57 76 95 114 133 152 171 190 209 228 247 266 285 304 323 342 361 380

18 18 36 54 72 90 108 126 144 162 180 198 216 234 252 270 288 306 324 342 360

17 17 34 51 68 85 102 119 136 153 170 187 204 221 238 255 272 289 306 323 340

16 16 32 48 64 80 96 112 128 144 160 176 192 208 224 240 256 272 288 304 320

15 15 30 45 60 75 90 105 120 135 150 165 180 195 210 225 240 255 270 285 300

14 14 28 42 56 70 84 98 112 126 140 154 168 182 196 210 224 238 252 266 280

13 13 26 39 52 65 78 91 104 117 130 143 156 169 182 195 208 221 234 247 260

12 12 24 36 48 60 72 84 96 108 120 132 144 156 168 180 192 204 216 228 240

11 11 22 33 44 55 66 77 88 99 110 121 132 143 154 165 176 187 198 209 220

10 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200

9 9 18 27 36 45 54 63 72 81 90 99 108 117 126 135 144 153 162 171 180

8 8 16 24 32 40 48 56 64 72 80 88 96 104 112 120 128 136 144 152 160

7 7 14 21 28 35 42 49 56 63 70 77 84 91 98 105 112 119 126 133 140

6 6 12 18 24 30 36 42 48 54 60 66 72 78 84 90 96 102 108 114 120

5 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100

4 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80

3 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 48 51 54 57 60

2 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40

1 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

0

y/x 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
We call the move from (3, 6) to (6, 3) the Substitution Effect of the price decrease. Consumption of Good X
The move from (6, 3) to (12, 6) is the Income Effect of the price decrease.
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Graphing the Substitution 
and Income Effects

Panel B Based on Panel 5.C, shows the income and subsitution effect of a Px

20 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380 400

19 19 38 57 76 95 114 133 152 171 190 209 228 247 266 285 304 323 342 361 380

18 18 36 54 72 90 108 126 144 162 180 198 216 234 252 270 288 306 324 342 360

17 17 34 51 68 85 102 119 136 153 170 187 204 221 238 255 272 289 306 323 340

16 16 32 48 64 80 96 112 128 144 160 176 192 208 224 240 256 272 288 304 320

15 15 30 45 60 75 90 105 120 135 150 165 180 195 210 225 240 255 270 285 300

14 14 28 42 56 70 84 98 112 126 140 154 168 182 196 210 224 238 252 266 280

13 13 26 39 52 65 78 91 104 117 130 143 156 169 182 195 208 221 234 247 260

12 12 24 36 48 60 72 84 96 108 120 132 144 156 168 180 192 204 216 228 240

11 11 22 33 44 55 66 77 88 99 110 121 132 143 154 165 176 187 198 209 220

10 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200

9 9 18 27 36 45 54 63 72 81 90 99 108 117 126 135 144 153 162 171 180

8 8 16 24 32 40 48 56 64 72 80 88 96 104 112 120 128 136 144 152 160

7 7 14 21 28 35 42 49 56 63 70 77 84 91 98 105 112 119 126 133 140

6 6 12 18 24 30 36 42 48 54 60 66 72 78 84 90 96 102 108 114 120

5 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100

4 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80

3 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 48 51 54 57 60

2 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40

1 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

0
y/x 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

The Income Effect (dark arrow) shows the change in purchasing power associated with new prices. Good X
Purchasing power is inversely related to price change:,  In 6.A, less X and Y are consumed and vice versa in 6.B.
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Examining Px from $1 to $2 
with Py = $1 and I = $20 for 

various Utility Functions
T7. Independent Goods Indifference Map: Px = $1 vs. Px = $2; I = $20 and Py = $1

20 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380 400

19 19 38 57 76 95 114 133 152 171 190 209 228 247 266 285 304 323 342 361 380

18 18 36 54 72 90 108 126 144 162 180 198 216 234 252 270 288 306 324 342 360

17 17 34 51 68 85 102 119 136 153 170 187 204 221 238 255 272 289 306 323 340

16 16 32 48 64 80 96 112 128 144 160 176 192 208 224 240 256 272 288 304 320

15 15 30 45 60 75 90 105 120 135 150 165 180 195 210 225 240 255 270 285 300

14 14 28 42 56 70 84 100 112 126 140 154 168 182 196 210 224 238 252 266 280

13 13 26 39 52 65 78 91 104 117 130 143 156 169 182 195 208 221 234 247 260

12 12 24 36 48 60 72 84 96 108 120 132 144 156 168 180 192 204 216 228 240

11 11 22 33 44 55 66 77 88 99 110 121 132 143 154 165 176 187 198 209 220

10 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200

9 9 18 27 36 45 54 63 72 81 90 99 108 117 126 135 144 153 162 171 180

8 8 16 24 32 40 48 56 64 72 80 88 96 104 112 120 128 136 144 152 160

7 7 14 21 28 35 42 50 56 63 70 77 84 91 98 105 112 119 126 133 140

6 6 12 18 24 30 36 42 48 54 60 66 72 78 84 90 96 102 108 114 120

5 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100

4 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80

3 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 48 51 54 57 60

2 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40

1 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

0

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

T2. with U(7, 7) = 50 and U(7, 14) = 100 to examine substitution and income effects. Consumption of Good X
Note: In this instance, we no longer have equal MU/P at the substitution bundles.
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T10.

20 86 120 155 190 209 222 232 241 249 255 261 267 272 276 280 284 288 292 295 298

19 84 118 152 187 205 218 228 237 244 251 257 262 267 271 276 280 283 287 290 293

18 83 116 150 183 201 214 224 233 240 246 252 257 262 266 270 274 278 281 285 288

17 81 114 147 179 197 210 220 228 235 241 247 252 257 261 265 269 272 276 279 282

16 79 111 143 176 193 205 215 223 230 236 242 247 251 255 259 263 267 270 273 276

15 77 109 140 172 188 200 210 218 225 231 236 241 245 250 253 257 260 264 267 270

14 75 106 137 167 184 195 205 212 219 225 230 235 239 243 247 250 254 257 260 263

13 73 103 133 163 179 190 199 206 213 219 224 228 232 236 240 243 247 250 253 255

12 71 100 129 157 173 184 193 200 206 212 217 221 225 229 233 236 239 242 245 247

11 69 96 124 152 167 178 186 193 199 204 209 213 217 221 224 228 231 234 236 239

10 66 92 119 146 160 170 179 185 191 196 201 205 209 212 215 219 221 224 227 229

9 63 88 114 139 153 162 170 177 182 187 191 195 199 202 205 208 211 214 216 218

8 59 83 107 131 144 153 161 167 172 176 180 184 188 191 194 196 199 202 204 206

7 55 77 99 122 134 142 149 155 159 164 168 171 174 177 180 182 185 187 189 191

6 50 70 90 110 121 129 135 140 144 148 151 155 157 160 163 165 167 169 171 173

5 42 59 76 94 103 109 114 119 123 126 129 131 134 136 138 140 142 144 145 147

4 27 38 49 60 66 70 73 76 79 81 83 84 86 87 89 90 91 92 93 94

3 18 28 32 39 43 47 50 53 56 58 61 63 65 68 70 72 74 76 78 80

2 9 12 15 18 21 24 27 30 33 36 39 42 45 48 51 54 57 60 63 66

1 1 3 5 7 9 11 13 15 17 19 21 23 25 27 29 31 33 35 37 39

0

y/x 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
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Consumption of Good x

Overlay of Indifference Curves and Budget Constraints showing the 

Substitution & Income Effects of a Price of x Increase: y is a complement of x

T9.

20 177 191 203 215 226 237 246 256 265 273 281 289 296 303 310 317 323 329 335 341 347

19 170 184 196 208 219 229 239 248 257 265 273 281 288 295 302 309 315 321 327 333 339

18 163 176 189 201 211 222 231 241 249 258 266 273 280 287 294 301 307 313 319 325 330

17 156 169 181 193 204 214 224 233 241 250 258 265 272 279 286 293 299 305 311 316 322

16 148 162 174 185 196 206 216 225 233 242 249 257 264 271 278 284 290 296 302 308 313

15 141 154 166 178 188 198 208 217 225 233 241 249 256 263 269 276 282 288 293 299 305

14 133 146 158 170 180 190 199 208 217 225 233 240 247 254 260 267 273 279 285 290 296

13 125 138 150 161 172 182 191 200 208 216 224 231 238 245 252 258 264 270 275 281 286

12 117 130 142 153 163 173 182 191 199 207 215 222 229 236 242 249 255 260 266 272 277

11 109 121 133 144 155 164 174 182 190 198 206 213 220 227 233 239 245 251 257 262 267

10 100 113 125 136 146 155 164 173 181 189 196 204 210 217 223 230 235 241 247 252 257

9 91 104 116 126 137 146 155 164 172 179 187 194 201 207 214 220 225 231 237 242 247

8 82 95 106 117 127 137 146 154 162 170 177 184 191 197 203 209 215 221 226 232 237

7 73 86 97 108 118 127 136 144 152 160 167 174 180 187 193 199 205 210 216 221 226

6 64 76 87 98 108 117 126 134 142 149 156 163 170 176 182 188 194 199 205 210 215

5 54 66 77 88 97 107 115 123 131 139 146 152 159 165 171 177 183 188 193 199 204

4 44 56 67 77 87 96 104 113 120 128 135 141 148 154 160 166 171 177 182 187 192

3 34 45 56 66 76 85 93 101 109 116 123 130 136 142 148 154 159 165 170 175 180

2 23 34 45 55 65 73 82 90 97 104 111 118 124 130 136 142 147 152 157 162 167

1 12 23 34 44 53 62 70 78 85 92 99 105 112 118 123 129 134 139 144 149 154

0 0 11 22 32 41 49 57 65 72 79 86 93 99 105 110 116 121 126 131 136 141

y/x 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Note: Substitution bundle at (1, 22) in this instance. Consumption of Good X
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Overlay of Indifference Curves and Budget Constraints in which an Increase in 

the Price of x Causes the Individual to Purchase only y

T8.

20 128 148 168 187 206 224 242 259 276 292 308 324 340 355 370 385 400 414 428 442 456

19 122 142 162 180 198 216 233 250 266 282 298 313 329 344 358 373 387 401 415 429 442

18 117 136 155 173 191 208 225 241 257 272 288 303 317 332 346 360 374 388 401 415 428

17 111 130 148 166 183 200 216 232 247 262 277 292 306 320 334 348 361 375 388 401 413

16 105 124 142 159 175 191 207 223 238 252 267 281 295 308 322 335 348 361 374 386 399

15 100 118 135 151 167 183 198 213 228 242 256 270 283 296 309 322 335 347 360 372 384

14 94 111 128 144 159 175 189 204 218 231 245 258 271 284 297 309 321 334 345 357 369

13 88 105 121 136 151 166 180 194 208 221 234 247 259 272 284 296 308 320 331 342 354

12 82 98 114 129 143 157 171 184 197 210 223 235 247 259 271 283 294 305 316 327 338

11 76 91 106 121 135 148 161 174 187 199 211 223 235 246 258 269 280 291 301 312 323

10 70 85 99 113 126 139 152 164 176 188 200 211 222 234 244 255 266 276 286 297 307

9 64 78 91 105 118 130 142 154 166 177 188 199 210 220 231 241 251 261 271 281 290

8 57 71 84 96 109 121 132 144 155 165 176 187 197 207 217 227 236 246 255 265 274

7 51 64 76 88 100 111 122 133 143 154 164 174 184 193 203 212 221 230 239 248 257

6 44 56 68 79 91 101 112 122 132 142 151 161 170 179 188 197 206 214 223 231 240

5 37 49 60 71 81 91 101 111 120 130 139 148 156 165 173 182 190 198 206 214 222

4 30 41 52 62 72 81 90 99 108 117 126 134 142 150 158 166 174 182 189 197 204

3 23 33 43 52 62 71 79 88 96 104 112 120 128 135 143 150 157 164 171 178 185

2 16 25 34 43 51 60 68 76 83 91 98 106 113 120 127 133 140 147 153 160 166

1 8 17 25 33 41 49 56 63 70 77 84 91 97 104 110 116 123 129 135 141 146

0 0 8 16 23 30 37 44 50 57 63 69 75 81 87 93 99 104 110 115 121 126

y/x 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Consumption of Good X
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Overlay of Indifference Curves and Budget Constraints showing the 

Substitution and Income Effects of a Price of x Increase: y is a substitute for x

T6.
Panel A Based on Panel 5.B, shows the income and subsitution effect of a Px

20 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380 400

19 19 38 57 76 95 114 133 152 171 190 209 228 247 266 285 304 323 342 361 380

18 18 36 54 72 90 108 126 144 162 180 198 216 234 252 270 288 306 324 342 360

17 17 34 51 68 85 102 119 136 153 170 187 204 221 238 255 272 289 306 323 340

16 16 32 48 64 80 96 112 128 144 160 176 192 208 224 240 256 272 288 304 320

15 15 30 45 60 75 90 105 120 135 150 165 180 195 210 225 240 255 270 285 300

14 14 28 42 56 70 84 98 112 126 140 154 168 182 196 210 224 238 252 266 280

13 13 26 39 52 65 78 91 104 117 130 143 156 169 182 195 208 221 234 247 260

12 12 24 36 48 60 72 84 96 108 120 132 144 156 168 180 192 204 216 228 240

11 11 22 33 44 55 66 77 88 99 110 121 132 143 154 165 176 187 198 209 220

10 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200

9 9 18 27 36 45 54 63 72 81 90 99 108 117 126 135 144 153 162 171 180

8 8 16 24 32 40 48 56 64 72 80 88 96 104 112 120 128 136 144 152 160

7 7 14 21 28 35 42 49 56 63 70 77 84 91 98 105 112 119 126 133 140

6 6 12 18 24 30 36 42 48 54 60 66 72 78 84 90 96 102 108 114 120

5 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100

4 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80

3 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 48 51 54 57 60

2 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40

1 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

0

y/x 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
The Substitution Effect (light arrow) rolls along the initial indifference curve to the new price ratio. Good X
The individual substitutes toward the good that is becoming less expensive: in  6.A, that is Y; and in 6.B, that is X.
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Graphical Overlays showing various effects of price increase or decrease

T1.
Panel A Income = Price of x = Price of y =

20 $20. $20.5 $21. $21.5 $22. $22.5 $23. $23.5 $24. $24.5 $25. $25.5 $26. $26.5 $27. $27.5 $28. $28.5 $29. $29.5 $30.

19 $19. $19.5 $20. $20.5 $21. $21.5 $22. $22.5 $23. $23.5 $24. $24.5 $25. $25.5 $26. $26.5 $27. $27.5 $28. $28.5 $29.

18 $18. $18.5 $19. $19.5 $20. $20.5 $21. $21.5 $22. $22.5 $23. $23.5 $24. $24.5 $25. $25.5 $26. $26.5 $27. $27.5 $28.

17 $17. $17.5 $18. $18.5 $19. $19.5 $20. $20.5 $21. $21.5 $22. $22.5 $23. $23.5 $24. $24.5 $25. $25.5 $26. $26.5 $27.

16 $16. $16.5 $17. $17.5 $18. $18.5 $19. $19.5 $20. $20.5 $21. $21.5 $22. $22.5 $23. $23.5 $24. $24.5 $25. $25.5 $26.

15 $15. $15.5 $16. $16.5 $17. $17.5 $18. $18.5 $19. $19.5 $20. $20.5 $21. $21.5 $22. $22.5 $23. $23.5 $24. $24.5 $25.

14 $14. $14.5 $15. $15.5 $16. $16.5 $17. $17.5 $18. $18.5 $19. $19.5 $20. $20.5 $21. $21.5 $22. $22.5 $23. $23.5 $24.

13 $13. $13.5 $14. $14.5 $15. $15.5 $16. $16.5 $17. $17.5 $18. $18.5 $19. $19.5 $20. $20.5 $21. $21.5 $22. $22.5 $23.

12 $12. $12.5 $13. $13.5 $14. $14.5 $15. $15.5 $16. $16.5 $17. $17.5 $18. $18.5 $19. $19.5 $20. $20.5 $21. $21.5 $22.

11 $11. $11.5 $12. $12.5 $13. $13.5 $14. $14.5 $15. $15.5 $16. $16.5 $17. $17.5 $18. $18.5 $19. $19.5 $20. $20.5 $21.

10 $10. $10.5 $11. $11.5 $12. $12.5 $13. $13.5 $14. $14.5 $15. $15.5 $16. $16.5 $17. $17.5 $18. $18.5 $19. $19.5 $20.

9 $9. $9.5 $10. $10.5 $11. $11.5 $12. $12.5 $13. $13.5 $14. $14.5 $15. $15.5 $16. $16.5 $17. $17.5 $18. $18.5 $19.

8 $8. $8.5 $9. $9.5 $10. $10.5 $11. $11.5 $12. $12.5 $13. $13.5 $14. $14.5 $15. $15.5 $16. $16.5 $17. $17.5 $18.

7 $7. $7.5 $8. $8.5 $9. $9.5 $10. $10.5 $11. $11.5 $12. $12.5 $13. $13.5 $14. $14.5 $15. $15.5 $16. $16.5 $17.

6 $6. $6.5 $7. $7.5 $8. $8.5 $9. $9.5 $10. $10.5 $11. $11.5 $12. $12.5 $13. $13.5 $14. $14.5 $15. $15.5 $16.

5 $5. $5.5 $6. $6.5 $7. $7.5 $8. $8.5 $9. $9.5 $10. $10.5 $11. $11.5 $12. $12.5 $13. $13.5 $14. $14.5 $15.

4 $4. $4.5 $5. $5.5 $6. $6.5 $7. $7.5 $8. $8.5 $9. $9.5 $10. $10.5 $11. $11.5 $12. $12.5 $13. $13.5 $14.

3 $3. $3.5 $4. $4.5 $5. $5.5 $6. $6.5 $7. $7.5 $8. $8.5 $9. $9.5 $10. $10.5 $11. $11.5 $12. $12.5 $13.

2 $2. $2.5 $3. $3.5 $4. $4.5 $5. $5.5 $6. $6.5 $7. $7.5 $8. $8.5 $9. $9.5 $10. $10.5 $11. $11.5 $12.

1 $1. $1.5 $2. $2.5 $3. $3.5 $4. $4.5 $5. $5.5 $6. $6.5 $7. $7.5 $8. $8.5 $9. $9.5 $10. $10.5 $11.

0 $. $.5 $1. $1.5 $2. $2.5 $3. $3.5 $4. $4.5 $5. $5.5 $6. $6.5 $7. $7.5 $8. $8.5 $9. $9.5 $10.

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
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Consumption of Good X

The Cost of Various Choices: Affordable Bundles given Prices and Income
$16 $0.50 $1.00

T4.

Panel A Given Px = $0.50, Py = $1 and I = $16. MUx(16, 8) = 8 MUy(16, 8) = 16

20 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380 400

19 19 38 57 76 95 114 133 152 171 190 209 228 247 266 285 304 323 342 361 380

18 18 36 54 72 90 108 126 144 162 180 198 216 234 252 270 288 306 324 342 360

17 17 34 51 68 85 102 119 136 153 170 187 204 221 238 255 272 289 306 323 340

16 16 32 48 64 80 96 112 128 144 160 176 192 208 224 240 256 272 288 304 320

15 15 30 45 60 75 90 105 120 135 150 165 180 195 210 225 240 255 270 285 300

14 14 28 42 56 70 84 98 112 126 140 154 168 182 196 210 224 238 252 266 280

13 13 26 39 52 65 78 91 104 117 130 143 156 169 182 195 208 221 234 247 260

12 12 24 36 48 60 72 84 96 108 120 132 144 156 168 180 192 204 216 228 240

11 11 22 33 44 55 66 77 88 99 110 121 132 143 154 165 176 187 198 209 220

10 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200

9 9 18 27 36 45 54 63 72 81 90 99 108 117 126 135 144 153 162 171 180

8 8 16 24 32 40 48 56 64 72 80 88 96 104 112 120 128 136 144 152 160

7 7 14 21 28 35 42 49 56 63 70 77 84 91 98 105 112 119 126 133 140

6 6 12 18 24 30 36 42 48 54 60 66 72 78 84 90 96 102 108 114 120

5 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100

4 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80

3 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 48 51 54 57 60

2 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40

1 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

0

y/x 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Note: Along BC, MUx/Px > MUy/Py for x < 16. This reverses when x > 16. Consumption of Good X
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Spend all income and have equal MUi/Pi across goods

Panel B Given Px = $2, Py = $1 and I = $16. MUx(4, 8) = 8 MUy(4, 8) = 4

20 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380 400

19 19 38 57 76 95 114 133 152 171 190 209 228 247 266 285 304 323 342 361 380

18 18 36 54 72 90 108 126 144 162 180 198 216 234 252 270 288 306 324 342 360

17 17 34 51 68 85 102 119 136 153 170 187 204 221 238 255 272 289 306 323 340

16 16 32 48 64 80 96 112 128 144 160 176 192 208 224 240 256 272 288 304 320

15 15 30 45 60 75 90 105 120 135 150 165 180 195 210 225 240 255 270 285 300

14 14 28 42 56 70 84 98 112 126 140 154 168 182 196 210 224 238 252 266 280

13 13 26 39 52 65 78 91 104 117 130 143 156 169 182 195 208 221 234 247 260

12 12 24 36 48 60 72 84 96 108 120 132 144 156 168 180 192 204 216 228 240

11 11 22 33 44 55 66 77 88 99 110 121 132 143 154 165 176 187 198 209 220

10 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200

9 9 18 27 36 45 54 63 72 81 90 99 108 117 126 135 144 153 162 171 180

8 8 16 24 32 40 48 56 64 72 80 88 96 104 112 120 128 136 144 152 160

7 7 14 21 28 35 42 49 56 63 70 77 84 91 98 105 112 119 126 133 140

6 6 12 18 24 30 36 42 48 54 60 66 72 78 84 90 96 102 108 114 120

5 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100

4 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80

3 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 48 51 54 57 60

2 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40

1 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

0

y/x 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Note: Along BC, MUx/Px > MUy/Py for x < 4. This reverses when x > 4. Consumption of Good X
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Panel C Overlay of budget lines and indifference curves associated with Panels 4.A and 4.B

20 20 40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380 400

19 19 38 57 76 95 114 133 152 171 190 209 228 247 266 285 304 323 342 361 380

18 18 36 54 72 90 108 126 144 162 180 198 216 234 252 270 288 306 324 342 360

17 17 34 51 68 85 102 119 136 153 170 187 204 221 238 255 272 289 306 323 340

16 16 32 48 64 80 96 112 128 144 160 176 192 208 224 240 256 272 288 304 320

15 15 30 45 60 75 90 105 120 135 150 165 180 195 210 225 240 255 270 285 300

14 14 28 42 56 70 84 98 112 126 140 154 168 182 196 210 224 238 252 266 280

13 13 26 39 52 65 78 91 104 117 130 143 156 169 182 195 208 221 234 247 260

12 12 24 36 48 60 72 84 96 108 120 132 144 156 168 180 192 204 216 228 240

11 11 22 33 44 55 66 77 88 99 110 121 132 143 154 165 176 187 198 209 220

10 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200

9 9 18 27 36 45 54 63 72 81 90 99 108 117 126 135 144 153 162 171 180

8 8 16 24 32 40 48 56 64 72 80 88 96 104 112 120 128 136 144 152 160

7 7 14 21 28 35 42 49 56 63 70 77 84 91 98 105 112 119 126 133 140

6 6 12 18 24 30 36 42 48 54 60 66 72 78 84 90 96 102 108 114 120

5 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100

4 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60 64 68 72 76 80

3 3 6 9 12 15 18 21 24 27 30 33 36 39 42 45 48 51 54 57 60

2 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40

1 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

0

y/x 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Note: Optimal bundle is the tangency of BC and indifference curve. Consumption of Good X
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Px = $2 Py = $1 Px = $0.50 Py = $1

x y x y

4 18 $26 1 18 $18.50
6 12 $24 2 9 $10.00
8 9 $25 3 6 $7.50
9 8 $26 6 3 $6.00

12 6 $30 9 2 $6.50
18 4 $40 18 1 $10.00

The blue $24 BC in T5.B is least cost solution The green $6 BC in T5.C is least cost solution

Other U = 72 bundles are above the blue BC Other U = 18 bundles are above the green BC

(6, 12) is the Substitution Bundle of the Px (6, 3) is the Substitution Bundle of the Px

What is the least cost way to obtain a given utility level?

Note that MUx/Px = MUy/Py at both substitution bundles

Cost given 

these prices

6 bundles with utility level 72 6 bundles with utility level 18

Cost given 

these prices

Consumer choice is a topic that is covered in only a handful of principles of microeconomic textbooks. This leads to many instructors to not cover this material despite the fact that 
students have already confronted consumer choice in everyday life. It therefore provides one of the easiest ways to teach students the marginal tradeoffs that are at the heart of 
microeconomic analysis. Additionally, indifference curves and budget constraints are topics that have ready analogs on the producer side both in introductory and intermediate 
microeconomics courses. One way to remedy the problem is to introduce students to consumer choice using discrete choice tables in introductory microeconomics. 

• The price of good x quadruples to $2 in Panel 1.B. 
The consumer has fewer options to purchase (the 
budget constraint has pivoted left on the y axis).
• If you purchase no x (and purchase only y), it 

does not matter that the price of x increased.
• The orange line (budget line with Px = $0.50) 

shows that many bundles that the consumer 
could afford before the price change are now no 
longer affordable. 

• The consumer is now faced with the green 
affordable bundles and gray budget constraint. 

• T3 shows another utility function: V = 10∙(x∙y)0.5. 
• Same cells are highlighted with different utilities
• The two functions (U and V) represent the same 

preferences because they only differ by a  
monotonic transformation.

• Figure 1 demonstrates T2 and T3 represent the 
same preferences for the continuous case. 

• The first and second column are combined to show 
the optimal choice given the budget constraint.

• The consumer chooses the highest utility possible, 
among affordable bundles. At this point, a 2 part rule 
holds: spend all income and have MUx/Px = MUy/Py .

• In this case, the consumer will consume 16 units of 
good x and 8 units of good y.

• When the price of x quadruples (from $0.50 to $2), 
the consumer consumes less of good x and receives 
a lower amount of utility. 

• Despite these changes, the same 2 part rule holds: 
spend all income and have MUx/Px = MUy/Py .

• T4.C combines T4.A and T4.B to show the effect of 
the price change with the continuous indifference 
curves and budget constraint added as an overlay.

• One part of confusion for the students when learning 
Consumer Theory is correctly identifying the 
substitution and income effects and utilizing the two 
effects to classify normal, inferior, and Giffen goods and 
substitutes, independent and complementary goods.

• Many times especially, when instructors have little or no 
experience drawing graphs in the continuous case, it is 
hard to see the two different effects. 

Panel B The budget line moves as the price changes from Panel 1.A to 1.B: Bundles on 

the original budget line (red) are no longer affordable due to price of x increase

20 $20. $22. $24. $26. $28. $30. $32. $34. $36. $38. $40. $42. $44. $46. $48. $50. $52. $54. $56. $58. $60.

19 $19. $21. $23. $25. $27. $29. $31. $33. $35. $37. $39. $41. $43. $45. $47. $49. $51. $53. $55. $57. $59.

18 $18. $20. $22. $24. $26. $28. $30. $32. $34. $36. $38. $40. $42. $44. $46. $48. $50. $52. $54. $56. $58.

17 $17. $19. $21. $23. $25. $27. $29. $31. $33. $35. $37. $39. $41. $43. $45. $47. $49. $51. $53. $55. $57.

16 $16. $18. $20. $22. $24. $26. $28. $30. $32. $34. $36. $38. $40. $42. $44. $46. $48. $50. $52. $54. $56.

15 $15. $17. $19. $21. $23. $25. $27. $29. $31. $33. $35. $37. $39. $41. $43. $45. $47. $49. $51. $53. $55.

14 $14. $16. $18. $20. $22. $24. $26. $28. $30. $32. $34. $36. $38. $40. $42. $44. $46. $48. $50. $52. $54.

13 $13. $15. $17. $19. $21. $23. $25. $27. $29. $31. $33. $35. $37. $39. $41. $43. $45. $47. $49. $51. $53.

12 $12. $14. $16. $18. $20. $22. $24. $26. $28. $30. $32. $34. $36. $38. $40. $42. $44. $46. $48. $50. $52.

11 $11. $13. $15. $17. $19. $21. $23. $25. $27. $29. $31. $33. $35. $37. $39. $41. $43. $45. $47. $49. $51.

10 $10. $12. $14. $16. $18. $20. $22. $24. $26. $28. $30. $32. $34. $36. $38. $40. $42. $44. $46. $48. $50.

9 $9. $11. $13. $15. $17. $19. $21. $23. $25. $27. $29. $31. $33. $35. $37. $39. $41. $43. $45. $47. $49.

8 $8. $10. $12. $14. $16. $18. $20. $22. $24. $26. $28. $30. $32. $34. $36. $38. $40. $42. $44. $46. $48.

7 $7. $9. $11. $13. $15. $17. $19. $21. $23. $25. $27. $29. $31. $33. $35. $37. $39. $41. $43. $45. $47.

6 $6. $8. $10. $12. $14. $16. $18. $20. $22. $24. $26. $28. $30. $32. $34. $36. $38. $40. $42. $44. $46.

5 $5. $7. $9. $11. $13. $15. $17. $19. $21. $23. $25. $27. $29. $31. $33. $35. $37. $39. $41. $43. $45.

4 $4. $6. $8. $10. $12. $14. $16. $18. $20. $22. $24. $26. $28. $30. $32. $34. $36. $38. $40. $42. $44.

3 $3. $5. $7. $9. $11. $13. $15. $17. $19. $21. $23. $25. $27. $29. $31. $33. $35. $37. $39. $41. $43.

2 $2. $4. $6. $8. $10. $12. $14. $16. $18. $20. $22. $24. $26. $28. $30. $32. $34. $36. $38. $40. $42.

1 $1. $3. $5. $7. $9. $11. $13. $15. $17. $19. $21. $23. $25. $27. $29. $31. $33. $35. $37. $39. $41.

0 $. $2. $4. $6. $8. $10. $12. $14. $16. $18. $20. $22. $24. $26. $28. $30. $32. $34. $36. $38. $40.

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Note: In a discrete context, the budget line passes through the center of a cell. Consumption of Good X
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Px

Px

Substitution & Income Effects allow us to Examine a Number of Issues 

• The Own-Price View (what happens to x as the price of x changes) 
allows us to examine whether x is a normal good 
o The substitution effect is always in the opposite direction of the 

price change. 
o X is normal if income the substitution and income effect point in the 

same direction. 

• That is the case for all utility maps shown on this poster. 

• The Cross-Price View (what happens to y as the price of x changes) 
allows us to examine whether x and y are substitutes, complements, 
or independent goods. 
o The substitution effect on y is always in the same direction as the 

price of x change. 
o If y is normal, the cross-price income and substitution effects point 

in the opposite direction. 
o The relative size of the two cross-price effects determines how the 

goods relate to one another. 
• Two goods are Substitutes if the cross-price substitution effect 

exceeds the cross-price income effect.  
 Here, an increase in price of x increases consumption of y (T8 & T9). 

• Two goods are Complements if the cross-price income effect 
exceeds the cross-price substitution effect . 
 Here, an increase in price of x decreases consumption of y (T10). 

• Two goods are Independent if the cross-price substitution effect 
and the cross-price income effect cancel one another.  

 Here, a change in price of x has no effect on y (T2 – T7). 
Figure 1 A Continuous Indifference Map Based on T2, with U(x, y) = x∙y, and 

T3, with V(x, y) = 10∙(x∙y)0.5, through x = y = n for n = 4 through 8  
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 Consumption of Good y
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Note: This poster, presented at the January 2019 ASSA meetings, is based on Holmgren (2017) and Erfle 

(2019). The Excel file accompanying Erfle (2019) contains interactive versions of all tables shown here.  

Erfle, S. (2019). “Discussing Substitutes and Complements in an Economics Principles Classroom with 

Discrete Choice Consumer Utility Tables.” Forthcoming in Journal of Economics Teaching. 

Holmgren, M. (2017). “From Continuous to Discrete: An Alternative Approach to Teaching Consumer 

Choice.” Journal of Economics Teaching, 2(1), 1-13. 


